mOoROSO,

External Oil Pump Mount Big Block Ford

P/N 23493
Parts List
(1) 7/16” x 4-1/2” Bolt (1) 7/16” x 2-1/4" Bolt
(1) 3/8” x 4-1/4" Bolt (1) 3/8” x 2-3/4” Bolt
(1) 5/16” x 3-3/4” Bolt (1) 5/16” x 2-1/4" Bolt
(1) Alum. Spacer 3/4” x 3” (1) Alum. Spacer 7/16” i.d. x 1-1/2”
(1) Alum. Spacer 3/8" i.d. x 3" (1) Alum. Spacer 5/16” i.d. x 2-1/2"
(1) Alum. Spacer 5/16” x 1-1/16” (1) Alum. Spacer 3/8" i.d. x 3"
(2) 3/8” x 1-1/2" Bolt (2) 3/8” Nylon Lock Nut
(5) 3/8” i.d. Flat Washer (1) 7/16” Flat Washer
(1) 5/16” Flat Washer (1) Oil Pump Mount

INSTALLATION:
Note: This kit will mount your External oil pump to the passenger side of the
engine only. (See Fig. 1 and 2 for installation)

FIG 1 FIG 2

For Technical Assistance, Call Moroso’s Tech Line at
(203) 458-0542, 458-0546 8:30am — 5:00pm Eastern Time
MOROSO PERFORMANCE PRODUCTS, INC

80 CARTER DR » GUILFORD, CT 06437-2116
Phone: (203) 453-6571 « Fax: (203) 453-6906

REY B b 3
120710 Visit Us At www._moroso.com 23493INET




	External Oil Pump Mount Big Block Ford

